



ELSEVIER

Contents lists available at ScienceDirect

Journal of Algebra

www.elsevier.com/locate/jalgebra



An algorithm for computing weight multiplicities in irreducible modules for complex semisimple Lie algebras[☆]



Mikaël Cavallin

Fachbereich Mathematik, Postfach 3049, 67653 Kaiserslautern, Germany

ARTICLE INFO

Article history:

Received 5 April 2016

Available online 14 October 2016

Communicated by Gerhard Hiss

Keywords:

Semisimple complex Lie algebras

BGG category

Verma modules

Irreducible modules

Weight multiplicities

Freudenthal's formula

ABSTRACT

Let \mathfrak{g} be a finite-dimensional semisimple Lie algebra over \mathbb{C} having rank l and let V be an irreducible finite-dimensional \mathfrak{g} -module having highest weight λ . Computations of weight multiplicities in V , usually based on Freudenthal's formula, are in general difficult to carry out in large ranks or for λ with large coefficients (in terms of the fundamental weights). In this paper, we first show that in some situations, these coefficients can be “lowered” in order to simplify the calculations. We then investigate how this can be used to improve the aforementioned formula of Freudenthal, leading to a more efficient version of the latter in terms of complexity as well as to a way of dealing with certain computations in unbounded ranks. We conclude by illustrating the last assertion with a concrete example.

© 2016 Elsevier Inc. All rights reserved.

[☆] The author would like to acknowledge the support of the Swiss National Science Foundation through grant no. 20020-135144 as well as the ERC Advanced Grant through grant no. 291512.

E-mail address: cavallin.mikael@gmail.com.

1. Introduction

Let \mathfrak{g} be a finite-dimensional semisimple Lie algebra over \mathbb{C} with Cartan subalgebra \mathfrak{h} . Set $l = \text{rank } \mathfrak{g}$ and fix an ordered base $\Pi = \{\alpha_1, \dots, \alpha_l\}$ of the corresponding root system $\Phi = \Phi^+ \sqcup \Phi^-$ of \mathfrak{g} , where Φ^+ and Φ^- denote the sets of positive and negative roots of Φ , respectively. Also let $\lambda_1, \dots, \lambda_l$ denote the so-called fundamental weights corresponding to our choice of base Π and write $\Lambda = \mathbb{Z}\lambda_1 + \dots + \mathbb{Z}\lambda_l$ for the associated integral weight lattice. Finally, let Λ^+ denote the set of dominant integral weights and recall the existence of a partial order on Λ , defined by $\mu \preceq \lambda$ if and only if $\lambda - \mu \in \Gamma$, where $\Gamma \subset \Lambda$ is the monoid of $\mathbb{Z}_{\geq 0}$ -linear combinations of simple roots.

It is well-known that the set of isomorphism classes of irreducible finite-dimensional \mathfrak{g} -modules is in one-to-one correspondence with the set Λ^+ of dominant integral weights. Furthermore, a class representative $L(\lambda)$ corresponding to a given weight $\lambda \in \Lambda^+$ can be constructed as the quotient of the so-called *Verma module of weight λ* , written $\Delta(\lambda)$, by its unique maximal submodule $\text{rad}(\lambda)$, that is

$$L(\lambda) = \Delta(\lambda) / \text{rad}(\lambda).$$

Even though infinite-dimensional, Verma modules are \mathfrak{h} -semisimple, i.e., can be decomposed as direct sums of their weight spaces. Moreover, such decompositions are well understood: for a given dominant integral weight $\lambda \in \Lambda^+$ and any integral weight $\mu \in \Lambda$, a basis for the weight space in $\Delta(\lambda)$ corresponding to μ is known (see (7) in Section 2.4 below) and hence so is the multiplicity $m_{\Delta(\lambda)}(\mu)$ of μ in $\Delta(\lambda)$. In addition, one gets that the set $\Lambda(\Delta(\lambda))$ of weights of $\Delta(\lambda)$ simply consists of all $\mu \in \Lambda$ such that $\mu \preceq \lambda$.

Unfortunately, not that much can be said about weight spaces in $L(\lambda)$ for an arbitrary dominant integral weight $\lambda \in \Lambda^+$. Firstly, finding out if a given weight $\mu \prec \lambda$ belongs to the set $\Lambda(\lambda)$ of weights of $L(\lambda)$ is far from being immediate, as it generally requires one to determine the unique dominant integral weight to which μ is conjugate (under the action of the Weyl group of \mathfrak{g}). Moreover, an explicit description of the (often very large) set

$$\Lambda^+(\lambda) = \Lambda(\lambda) \cap \Lambda^+$$

for $\lambda \in \Lambda^+$ with large coefficients (when written as a \mathbb{Z} -linear combination of fundamental weights) is usually hard to come by (see [11] for a recursive method). The first result in this paper shows that under certain assumptions on $\lambda \in \Lambda^+$ and $\mu \in \Lambda$, the multiplicity of μ in $L(\lambda)$ is the same as the multiplicity of μ' in $L(\lambda')$, where λ' is a dominant integral weight whose coefficients (again, when written as a \mathbb{Z} -linear combination of fundamental weights) are smaller than or equal to those of λ , and $\mu' \in \Lambda$ is the unique integral weight satisfying $\lambda' - \mu' = \lambda - \mu$. The proof essentially relies on the existence of an explicit description of the maximal submodule $\text{rad}(\lambda)$ of $\Delta(\lambda)$ (see [8, Section 2.6] or Theorem 2.4 below).

Proposition A. Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$, so that $\mu \preceq \lambda$. Also assume the existence of a non-empty subset J of $\{1, \dots, l\}$ such that $0 \leq c_j \leq a_j$ for every $j \in J$ and set $\lambda' = \lambda + \sum_{j \in J} (c_j - a_j) \lambda_j$, $\mu' = \lambda' - (\lambda - \mu)$. Then

$$m_{L(\lambda)}(\mu) = m_{L(\lambda')}(\mu').$$

While Proposition A can sometimes allow one to study weight spaces in smaller modules than those initially considered, an effective method to compute weight multiplicities in most irreducibles is still needed. As mentioned in the abstract of this paper, this can be accomplished by applying the well-known formula of Freudenthal [6], for example. We refer the reader to [7, Theorem 22.3] for a proof of the following.

Theorem (Freudenthal's formula). Let $\lambda \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$. Also set $d(\lambda, \mu) = 2(\lambda + \rho, \lambda - \mu) - \|\lambda - \mu\|^2$, where ρ denotes the sum of all fundamental weights and $(-, -)$ is the usual inner product on Λ . Then the multiplicity of μ in $L(\lambda)$ is given recursively by

$$d(\lambda, \mu) m_{L(\lambda)}(\mu) = 2 \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda)}(\mu + r\alpha) (\mu + r\alpha, \alpha).$$

The recursive nature of Freudenthal's formula makes the latter quite demanding in terms of complexity, especially in unbounded rank, due to the quadratic growth of $|\Phi^+|$ as $l \rightarrow \infty$. However, it is still more efficient than the recursive method of Racah ([5, Section 8.11]) or the closed formula provided by Kostant ([9]), for example. (Indeed, both involve a summation over all elements in the Weyl group, which becomes very cumbersome as the rank of \mathfrak{g} grows.) Furthermore, various authors have been studying ways of improving the efficiency of Freudenthal's formula over the past decades, like Moody and Patera ([11]) for example, who developed an algorithm allowing faster computation of multiplicities. If interested in more recent formulas, we refer the reader to [10,12,4], or [13]. (The third paper describes a closed formula in the special case where \mathfrak{g} is a simple Lie algebra of type C_2 over \mathbb{C} .)

The second result of this paper consists in another modification of the aforementioned formula of Freudenthal, applicable under certain conditions on λ and μ . For $1 \leq j \leq l$ and $\alpha = \sum_{r=1}^l d_r \alpha_r \in \Gamma$, define the j -level of α by $\text{level}_j(\alpha) = d_j$ and set

$$\Phi_j^+ = \{\alpha \in \Phi^+ : \text{level}_j(\alpha) > 0\}.$$

Observe that a positive root $\alpha \in \Phi^+$ belongs to Φ_j^+ if and only if α_j appears in the decomposition of α as a sum of simple roots. Also, it is clear that $0 \leq \text{level}_j(\alpha) \leq 6$ for every $\alpha \in \Phi^+$ and finally, if \mathfrak{g} is of classical type (i.e. of type A , B , C or D), then $0 \leq \text{level}_j(\alpha) \leq 2$ for every $1 \leq j \leq l$ and $\alpha \in \Phi^+$.

Theorem B. Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$. Also assume the existence of $1 \leq j \leq l$ such that $0 < \text{level}_j(\lambda - \mu) \leq a_j$ (or equivalently, such that $0 < c_j \leq a_j$). Then

$$m_{L(\lambda)}(\mu) = \frac{1}{c_j} \sum_{\alpha \in \Phi_j^+} \sum_{r=1}^{c_j} \text{level}_j(\alpha) m_{L(\lambda)}(\mu + r\alpha).$$

Remark. One fundamental difference between the formula stated in Theorem B and the classical formula of Freudenthal resides in the indices of summation, especially those associated to the second sum, ranging over all elements in Φ_j^+ instead of Φ^+ . For example, if \mathfrak{g} is of classical type, then $|\Phi_1^+| \in O(l)$, while $|\Phi^+| \in O(l^2)$. Also, even in the case where $\{1 \leq j \leq l : 0 < c_j \leq a_j\} = \emptyset$, there still might exist $r > 0$, $\alpha \in \Phi^+$ such that $\mu + r\alpha \prec \lambda$ and $\{1 \leq j \leq l : 0 < \text{level}_j(\lambda - \mu - r\alpha) \leq a_j\} \neq \emptyset$. Consequently $m_{L(\lambda)}(\mu + r\alpha)$ could be computed using Theorem B, hence simplifying the use of Freudenthal's formula, even though μ itself did not satisfy the necessary condition.

Finally, let \mathfrak{g} be a simple Lie algebra of type A_l over \mathbb{C} , and for a non-zero dominant integral weight $\lambda = \sum_{r=1}^l a_r \lambda_r$, define $I_\lambda = \{r_1, \dots, r_{N_\lambda}\}$ to be maximal in $\{1, \dots, l\}$ such that $r_1 < \dots < r_{N_\lambda}$ and $\prod_{r \in I_\lambda} a_r \neq 0$. The following result consists of a direct application of Theorem B in unbounded rank.

Proposition C. Let \mathfrak{g} be a simple Lie algebra of type A_l over \mathbb{C} and let $\lambda = \sum_{r=1}^l a_r \lambda_r$ be a non-zero dominant integral weight. Also let $I_\lambda = \{r_1, \dots, r_{N_\lambda}\}$ be as above and consider $\mu = \lambda - (\alpha_1 + \dots + \alpha_l) \in \Lambda$. If $N_\lambda = 1$, then $m_{L(\lambda)}(\mu) = 1$, while if $N_\lambda \geq 2$, then

$$m_{L(\lambda)}(\mu) = \prod_{i=2}^{N_\lambda} (r_i - r_{i-1} + 1).$$

Remark. Observe that the weight $\mu \in \Lambda$ defined in the statement of Proposition C is dominant integral if and only if $a_1 a_l \neq 0$ (see Section 5 for more details). Also notice that Proposition C consists in a generalization of [14, Lemma 8.6], which simply corresponds to the special situation in which $I_\lambda = \{1, l\}$.

2. Preliminaries

In this section, we recall some elementary properties concerning semisimple Lie algebras and their representations, starting by fixing some notation that will be used for the rest of the paper. Most of the results presented here can be found in [2, 7] and [8]. Let \mathfrak{g} be a semisimple Lie algebra over \mathbb{C} with Cartan subalgebra \mathfrak{h} . Set $l = \text{rank } \mathfrak{g}$ and fix an ordered base $\Pi = \{\alpha_1, \dots, \alpha_l\}$ of the corresponding root system $\Phi = \Phi^+ \sqcup \Phi^-$, where Φ^+ and Φ^- denote the sets of positive and negative roots of Φ , respectively. To each

root $\alpha \in \Phi$ corresponds a 1-dimensional subspace \mathfrak{g}_α of \mathfrak{g} (called a *root space*) defined by

$$\mathfrak{g}_\alpha = \{x \in \mathfrak{g} : [h, x] = \alpha(h)x \text{ for all } h \in \mathfrak{h}\}.$$

It is quite common to consider a basis $\mathcal{B} = \{y_\alpha, h_r, x_\alpha : \alpha \in \Phi^+, 1 \leq r \leq l\}$ for \mathfrak{g} , where $x_\alpha \in \mathfrak{g}_\alpha$, $y_\alpha \in \mathfrak{g}_{-\alpha}$ are root vectors for $\alpha \in \Phi^+$ and $h_r = [x_{\alpha_r}, y_{\alpha_r}]$ for $1 \leq r \leq l$. Such a basis can be chosen in many ways. For example, a standard Chevalley basis (see [3, Chapter 4]) has integral structure constants and hence is easy to work with. (For our purpose though, it is not necessary to make such a refined choice for a basis of \mathfrak{g} .) Fixing an ordering \leq on $\Phi^+ = \{\gamma_1, \dots, \gamma_m\}$ with $\gamma_r = \alpha_r$ for $1 \leq r \leq l$ yields an *ordered* basis

$$\mathcal{B} = \{y_1, \dots, y_m, h_1, \dots, h_r, x_1, \dots, x_m\} \quad (1)$$

for \mathfrak{g} , where $x_r \in \mathfrak{g}_{\gamma_r}$, $y_r \in \mathfrak{g}_{-\gamma_r}$ are root vectors for $1 \leq r \leq m$ and $h_r = [x_r, y_r]$ for $1 \leq r \leq l$. Throughout this paper, we fix an ordered basis as in (1) for any semisimple Lie algebra \mathfrak{g} .

2.1. Integral weights

The root system Φ of \mathfrak{g} spans a \mathbb{Q} -form E_0 of the dual space \mathfrak{h}^* on which the Killing form $(-, -)$ is non-degenerate, providing $E = E_0 \otimes_{\mathbb{Q}} \mathbb{R}$ with a natural structure of Euclidean space. The \mathbb{Z} -span of Φ in E is called the *root lattice* of Φ , and the dual lattice to Φ in E , defined by

$$\Lambda = \{\lambda \in E : \langle \lambda, \alpha \rangle \in \mathbb{Z} \text{ for every } \alpha \in \Pi\},$$

is called the *integral weight lattice* associated to Φ . (Here we adopt the notation $\langle x, y \rangle = 2(x, y)(y, y)^{-1}$ for $x, y \in E$ with $y \neq 0$.) It is a free Abelian group of rank l with basis $\{\lambda_1, \dots, \lambda_l\}$, where $\lambda_1, \dots, \lambda_l$ denote the *fundamental weights* corresponding to our choice of base Π , that is $\langle \lambda_i, \alpha_j \rangle = \delta_{ij}$ for every $1 \leq i, j \leq l$. In addition, let

$$\Lambda^+ = \{\lambda \in \Lambda : \langle \lambda, \alpha_r \rangle \geq 0 \text{ for every } 1 \leq r \leq l\}$$

be the set of *dominant integral weights* and recall the existence of a partial order \preceq on Λ , defined by $\mu \preceq \lambda$ if and only if $\lambda - \mu \in \Gamma$, where $\Gamma \subset \Lambda$ is the monoid of $\mathbb{Z}_{\geq 0}$ -linear combinations of simple roots. We also write $\mu \prec \lambda$ to indicate that $\mu \preceq \lambda$ and $\mu \neq \lambda$. Finally, for $\alpha \in \Phi$, define the reflection $s_\alpha : E \rightarrow E$ relative to α by

$$s_\alpha(\lambda) = \lambda - \langle \lambda, \alpha \rangle \alpha,$$

this for every $\lambda \in \mathfrak{h}^*$, and denote by \mathcal{W} the finite group $\langle s_{\alpha_r} : 1 \leq r \leq l \rangle$, called the *Weyl group* of Φ . We say that $\lambda, \mu \in \mathfrak{h}^*$ are *conjugate under the action of \mathcal{W}* (or *\mathcal{W} -conjugate*)

if there exists $w \in \mathscr{W}$ such that $w\lambda = \mu$, in which case we write $\lambda \sim_{\mathscr{W}} \mu$. One easily shows that \mathscr{W} stabilizes Λ and it is well-known (see [7, Section 13.2, Lemma A], for example) that each weight in Λ is \mathscr{W} -conjugate to a unique dominant integral weight. Also if $\lambda \in \Lambda^+$, then $w\lambda \preceq \lambda$ for every $w \in \mathscr{W}$.

2.2. Universal enveloping algebras

In this section, we recall some elementary facts on universal enveloping algebras of Lie algebras. Most of the results presented here can be found in [2] or [7]. A *universal enveloping algebra* of an arbitrary Lie algebra \mathfrak{L} over \mathbb{C} is a pair $(\mathfrak{U}(\mathfrak{L}), \iota)$, where $\mathfrak{U}(\mathfrak{L})$ is an associative algebra with 1 over \mathbb{C} , $\iota : \mathfrak{L} \rightarrow \mathfrak{U}(\mathfrak{L})$ is a linear map satisfying

$$\iota([x, y]) = \iota(x)\iota(y) - \iota(y)\iota(x), \quad (2)$$

for $x, y \in \mathfrak{L}$, and such that the following universal property holds: for any associative algebra \mathfrak{U} with 1 and any linear map $\eta : \mathfrak{L} \rightarrow \mathfrak{U}$ satisfying (2), there exists a unique morphism of algebras $\phi : \mathfrak{U}(\mathfrak{L}) \rightarrow \mathfrak{U}$ such that $\phi \circ \iota = \eta$. The existence and uniqueness (up to isomorphism) of such a pair $(\mathfrak{U}(\mathfrak{L}), \iota)$ are not too difficult to establish (see [7, Section 17.2], for example) and the well-known *Poincaré–Birkhoff–Witt Theorem* (or *PBW-Theorem*) implies that if \mathfrak{L} is a Lie algebra with corresponding universal enveloping algebra $(\mathfrak{U}(\mathfrak{L}), \iota)$, then ι is injective. Furthermore, if \mathfrak{L} is identified with its image in $\mathfrak{U}(\mathfrak{L})$ and if (b_1, b_2, \dots) is an ordered basis for \mathfrak{L} , then a basis for $\mathfrak{U}(\mathfrak{L})$ is given by

$$\{b_1^{t_1} \cdots b_k^{t_k} : k \in \mathbb{Z}_{\geq 0}, t_1, \dots, t_k \in \mathbb{Z}_{\geq 0}\}.$$

In the case where \mathfrak{g} is a semisimple Lie algebra with ordered basis as in (1), one deduces that a basis for $\mathfrak{U}(\mathfrak{g})$ consists of elements of the form

$$y_1^{r_1} \cdots y_m^{r_m} h_1^{s_1} \cdots h_l^{s_l} x_1^{t_1} \cdots x_m^{t_m}, \quad (3)$$

where $r_i, s_j, t_i \in \mathbb{Z}_{\geq 0}$ for every $1 \leq i \leq m$ and every $1 \leq j \leq l$. Finally, $\mathfrak{U}(\mathfrak{g})$ can be decomposed into a direct sum of subspaces of the form $\mathfrak{U}(\mathfrak{g})_\gamma$, where $\gamma \in \mathbb{Z}\Phi$ and $\mathfrak{U}(\mathfrak{g})_\gamma$ is spanned by those monomials in (3) for which $\gamma = \sum_{i=1}^m (t_i - r_i)\gamma_i$.

2.3. Representations of $\mathfrak{U}(\mathfrak{g})$

In this section, we recall some basic properties of $\mathfrak{U}(\mathfrak{g})$ -modules (or equivalently, \mathfrak{g} -modules). Unless specified otherwise, the results recorded here can be found in [7, Section 20]. Let V denote an arbitrary $\mathfrak{U}(\mathfrak{g})$ -module and for $\mu \in \mathfrak{h}^*$, set

$$V_\mu = \{v \in V : hv = \mu(h)v \text{ for all } h \in \mathfrak{h}\}.$$

An element $\mu \in \mathfrak{h}^*$ with $V_\mu \neq 0$ is called a *weight of V* and V_μ is said to be its corresponding *weight space*. The dimension of V_μ (possibly infinite) is called the *multiplicity of μ*

in V and is denoted by $m_V(\mu)$. It behaves well with respect to short exact sequences, in the following sense: if $0 \rightarrow V_1 \rightarrow V_2 \rightarrow V_3 \rightarrow 0$ is a short exact sequence of $\mathfrak{U}(\mathfrak{g})$ -modules and $\mu \in \mathfrak{h}^*$, then

$$m_{V_2}(\mu) = m_{V_1}(\mu) + m_{V_3}(\mu). \quad (4)$$

Also write $\Lambda(V)$ to denote the set of weights of V and as in the integral case, define a partial order on the latter by saying that $\mu \in \Lambda(V)$ is *under* $\lambda \in \Lambda(V)$ (written $\mu \preccurlyeq \lambda$) if and only if $\lambda - \mu \in \Gamma$, where Γ denotes the monoid of $\mathbb{Z}_{\geq 0}$ -linear combinations of simple roots. In addition, we write $\mu \prec \lambda$ to indicate that μ is *strictly* under λ , i.e. μ is under λ and $\mu \neq \lambda$.

A $\mathfrak{U}(\mathfrak{g})$ -module V is said to be a *weight module* if it is \mathfrak{h} -semisimple, that is, if it can be decomposed into a direct sum of its weight spaces. If $\dim V < \infty$, then V is always a weight module, while if on the other hand V is infinite-dimensional, then the sum of its weight spaces might be a proper submodule. Nevertheless, two weight spaces corresponding to different weights always intersect trivially, from which one easily deduces that if U, W are two submodules of a weight module V and $\mu \in \Lambda(V)$, then

$$(U + W)_\mu = U_\mu + W_\mu. \quad (5)$$

A non-zero vector $v^+ \in V$ is called a *maximal vector* of weight $\lambda \in \mathfrak{h}^*$ if $v^+ \in V_\lambda$ and $x_r v^+ = 0$ for every $1 \leq r \leq m$. Also, we say that V is a *highest weight module* of weight λ if there exists a maximal vector $v^+ \in V_\lambda$ such that $\mathfrak{U}(\mathfrak{g})v^+ = V$. Write $\mathfrak{n} = \bigoplus_{r=1}^m \langle x_r \rangle_{\mathbb{C}}$ and $\mathfrak{n}^- = \bigoplus_{r=1}^m \langle y_r \rangle_{\mathbb{C}}$. Since $\mathfrak{U}(\mathfrak{g}) = \mathfrak{U}(\mathfrak{n}^-)\mathfrak{U}(\mathfrak{h})\mathfrak{U}(\mathfrak{n})$, the module V is generated by v^+ as a $\mathfrak{U}(\mathfrak{n}^-)$ -module, so that

$$V_\mu = \left\langle y_1^{r_1} \cdots y_m^{r_m} v^+ : r_1, \dots, r_m \in \mathbb{Z}_{\geq 0}, \sum_{i=1}^m r_i \gamma_i = \lambda - \mu \right\rangle_{\mathbb{C}} \quad (6)$$

for any $\mu \in \mathfrak{h}^*$. Finally, the natural action of the Weyl group \mathscr{W} on \mathfrak{h}^* induces an action on $\Lambda(V)$. As in the integral case, we say that $\lambda, \mu \in \Lambda(V)$ are *conjugate under the action of \mathscr{W}* (or *\mathscr{W} -conjugate*) if there exists $w \in \mathscr{W}$ such that $w\lambda = \mu$.

2.4. Verma modules and the BGG category \mathcal{O}

In the remainder of this paper, we shall be particularly interested in finitely generated, \mathfrak{h} -semisimple $\mathfrak{U}(\mathfrak{g})$ -modules V such that for every $v \in V$, the subspace $\mathfrak{U}(\mathfrak{n})v$ of V is finite-dimensional. (The latter condition is called *local \mathfrak{n} -finiteness*.) Such modules form the objects of a subcategory \mathcal{O} of the category of (left) $\mathfrak{U}(\mathfrak{g})$ -modules, called the *BGG category*. The latter is closed under submodules, quotients and finite direct sums and it turns out that every irreducible module in \mathcal{O} can be obtained as the quotient of a certain highest weight module, called a *Verma module*. All results presented here can be found in [8, Chapter 1], for example.

Definition 2.1 (*Verma module*). Set $\mathfrak{b} = \mathfrak{n} \oplus \mathfrak{h}$ and for $\lambda \in \mathfrak{h}^*$, let \mathbb{C}_λ denote the $\mathfrak{U}(\mathfrak{b})$ -module defined by $\mathfrak{n}\xi = 0$ and $h\xi = \lambda(h)\xi$ for all $h \in \mathfrak{h}$ and $\xi \in \mathbb{C}$. The *Verma module of weight λ* is the $\mathfrak{U}(\mathfrak{g})$ -module $\Delta(\lambda)$ obtained by inducing \mathbb{C}_λ from \mathfrak{b} to \mathfrak{g} , that is,

$$\Delta(\lambda) = \mathfrak{U}(\mathfrak{g}) \otimes_{\mathfrak{U}(\mathfrak{b})} \mathbb{C}_\lambda.$$

The module $\Delta(\lambda)$ also admits a description by generators and relations, from which one deduces that $\Delta(\lambda)$ plays the role of universal highest weight module of weight λ in the category \mathcal{O} (see [8, Section 1.3]). Therefore by (6), one gets that the weight space $\Delta(\lambda)_\mu$ corresponding to $\mu \in \mathfrak{h}^*$ is spanned by the set

$$\mathcal{B}(\lambda)_\mu = \left\{ y_1^{r_1} \cdots y_m^{r_m} v^\lambda : r_1, \dots, r_m \in \mathbb{Z}_{\geq 0}, \sum_{i=1}^m r_i \gamma_i = \lambda - \mu \right\}, \quad (7)$$

where v^λ denotes a maximal vector of weight λ in $\Delta(\lambda)$. The cardinality of the set (7) equals $P(\lambda - \mu)$, where $P : \mathfrak{h}^* \rightarrow \mathbb{Z}_{\geq 0}$ corresponds to the *Kostant function*, whose value at $\alpha \in \mathfrak{h}^*$ is defined to be the number of distinct sets of non-negative integers c_1, \dots, c_m for which $\alpha = \sum_{r=1}^m c_r \gamma_r$. The following result consists in a description of a basis for $\Delta(\lambda)_\mu$, thus leading to the knowledge of the multiplicity of μ in $\Delta(\lambda)$. Its proof immediately follows from the fact that $\Delta(\lambda) \cong \mathfrak{U}(\mathfrak{n}^-)$ as $\mathfrak{U}(\mathfrak{n}^-)$ -modules (see [7, Section 20.3], for example).

Lemma 2.2. *Let $\lambda, \mu \in \mathfrak{h}^*$ and consider the Verma module $\Delta(\lambda)$ of weight λ . Then the set (7) forms a basis for $\Delta(\lambda)_\mu$. In particular $\dim \Delta(\lambda)_\mu = P(\lambda - \mu)$.*

Remark 2.3. Let $\lambda, \delta \in \mathfrak{h}^*$ and fix two maximal vectors v^λ, v^δ in $\Delta(\lambda)_\lambda, \Delta(\delta)_\delta$, respectively. Also let $\gamma \in \Gamma$ and set $\mu = \lambda - \gamma, \nu = \delta - \gamma$. By Lemma 2.2, we have $m_{\Delta(\lambda)}(\mu) = m_{\Delta(\delta)}(\nu)$ and the sets $\mathcal{B}(\lambda)_\mu, \mathcal{B}(\delta)_\nu$ as in (7) form ordered bases of $\Delta(\lambda)_\mu, \Delta(\delta)_\nu$, respectively. Furthermore, for any $y \in \mathfrak{U}(\mathfrak{n}^-)$, the coefficients of yv^λ with respect to $\mathcal{B}(\lambda)_\mu$ and the coefficients of yv^δ with respect to $\mathcal{B}(\delta)_\nu$ are identical, since obtained by successively applying standard commutation formulas in $\mathfrak{U}(\mathfrak{g})$.

It turns out that $\Delta(\lambda)$ contains a unique maximal submodule $\text{rad}(\lambda)$ and throughout this paper, we write $L(\lambda) = \Delta(\lambda)/\text{rad}(\lambda)$ for the corresponding irreducible quotient. Unfortunately, there is no analogue of Lemma 2.2 for weight spaces in $L(\lambda)$ for an arbitrarily given $\lambda \in \mathfrak{h}^*$. Nevertheless, applying (4) to the short exact sequence

$$0 \rightarrow \text{rad}(\lambda) \rightarrow \Delta(\lambda) \rightarrow L(\lambda) \rightarrow 0$$

and using Lemma 2.2, one easily sees that knowing the multiplicity of $\mu \in \mathfrak{h}^*$ in $\text{rad}(\lambda)$ leads to the knowledge of $m_{L(\lambda)}(\mu)$ as well. Now for $\lambda \in \mathfrak{h}^*$ arbitrary, no simple description of $\text{rad}(\lambda)$ is known, while in the case where λ is dominant integral, then the following result gives a better understanding of the structure of $\text{rad}(\lambda)$.

Theorem 2.4. Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and fix a maximal vector v^λ of weight λ in $\Delta(\lambda)$. Then the following assertions hold.

1. For every $1 \leq r \leq l$, the element $y_r^{a_r+1} v^\lambda$ is a maximal vector of weight $\lambda - (a_r + 1)\alpha_r$ in $\Delta(\lambda)$.
2. For every $1 \leq r \leq l$, the $\mathfrak{U}(\mathfrak{g})$ -module generated by $y_r^{a_r+1} v^\lambda$ is isomorphic to $\Delta(\lambda - (a_r + 1)\alpha_r)$.
3. The unique maximal submodule $\text{rad}(\lambda)$ of $\Delta(\lambda)$ is given by

$$\text{rad}(\lambda) = \sum_{r=1}^l \mathfrak{U}(\mathfrak{g}) y_r^{a_r+1} v^\lambda.$$

Proof. The proof of Parts 1 and 2 essentially depends on some standard commutation formulas in $\mathfrak{U}(\mathfrak{g})$ (see [8, Proposition 1.4], for example). Also, we refer the reader to [8, Theorem 2.6] for a proof of Part 3. \square

3. Proof of Proposition A

For a non-empty subset J of $\{1, \dots, l\}$, set $\mathfrak{h}_J = \langle h_j : j \in J \rangle$ as well as $\mathfrak{g}_J = \langle \mathfrak{g}_{\pm\alpha_j} : j \in J \rangle$. Clearly the Levi subalgebra \mathfrak{g}_J of \mathfrak{g} is a semisimple Lie algebra over \mathbb{C} , having Cartan subalgebra \mathfrak{h}_J and root system $\Phi_J = \Phi \cap \mathbb{Z}\{\alpha_j\}_{j \in J}$. We start by stating the following result, whose proof can be found in [1, Lemma 2.2.8], for example.

Lemma 3.1. Let $\lambda \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu \prec \lambda$. Also let $J \subseteq \{1, \dots, l\}$ be such that $\mu = \lambda - \sum_{j \in J} c_j \alpha_j$ for some subset $\{c_j\}_{j \in J}$ of $\mathbb{Z}_{\geq 0}$. Then

$$m_{L(\lambda)}(\mu) = m_{L(\lambda|_{\mathfrak{h}_J})}(\mu|_{\mathfrak{h}_J}).$$

Remark 3.2. Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r \in \Lambda$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$. Also let $J \subseteq \{1, \dots, l\}$ be minimal such that $\mu = \lambda - \sum_{j \in J} c_j \alpha_j$. An application of Lemma 3.1 then shows that $m_{L(\lambda)}(\mu)$ is independent of the value of each a_k such that $k \notin J$. In particular $m_{L(\lambda)}(\mu) = m_{L(\lambda')}(\mu')$, where $\lambda' = \lambda - \sum_{k \notin J} a_k \lambda_k$ and $\mu' = \lambda' - (\lambda - \mu)$. Consequently one can assume $c_j \neq 0$ for every $j \in J$ in Proposition A and focus on the situation where \mathfrak{g} is simple.

We first prove Proposition A in the situation where J is a singleton. The general case shall then follow by repeated application of this special case. For $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ a dominant integral weight, $1 \leq j \leq l$ and $x \in \mathbb{Z}$, define

$$\lambda_{j,x} = \lambda + (x - a_j) \lambda_j.$$

Clearly $\lambda_{j,x}$ is simply obtained from λ by replacing a_j with x and hence remains dominant integral if and only if $x \in \mathbb{Z}_{\geq 0}$. In addition, for $\mu \in \Lambda$ such that $\mu \preccurlyeq \lambda$, also define

$$\mu^{\lambda_{j,x}} = \lambda_{j,x} - (\lambda - \mu).$$

Obviously $\lambda^{\lambda_{j,x}} = \lambda_{j,x}$ and if $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$, then $\mu^{\lambda_{j,x}} = \lambda_{j,x} - \sum_{r=1}^l c_r \alpha_r$. In other words, $\mu^{\lambda_{j,x}}$ is the unique integral weight for which $\lambda - \mu = \lambda_{j,x} - \mu^{\lambda_{j,x}}$. Finally, define the j -level of $\alpha = \sum_{r=1}^l d_r \alpha_r \in \Gamma$ to be $\text{level}_j(\alpha) = d_j$. The following elementary result provides the reader with a way of becoming familiar with the recently introduced notation. It shall be used in Section 4.

Lemma 3.3. *Let $\lambda \in \Lambda^+$ be a dominant integral weight and let $\alpha \in \Gamma$. Then for every $1 \leq j \leq l$ and every $x \in \mathbb{Z}$, we have*

$$(\lambda_{j,x}, \alpha) = (\lambda_{j,0}, \alpha) + x \text{level}_j(\alpha)(\lambda_j, \alpha_j).$$

Proof. First notice that $(\lambda_{j,x}, \alpha) = (\lambda + (x - a_j)\lambda_j, \alpha) = (\lambda - a_j\lambda_j, \alpha) + x(\lambda_j, \alpha)$ by definition of $\lambda_{j,x}$ and by bilinearity of $(-, -)$. Also $\lambda - a_j\lambda_j$ is obviously obtained from λ by replacing a_j by 0, i.e. $\lambda - a_j\lambda_j = \lambda_{j,0}$. Finally, observe that $(\lambda_j, \alpha_r) = \delta_{rj}(\lambda_j, \alpha_j)$ for every $1 \leq r \leq l$ and hence $(\lambda_j, \alpha) = \text{level}_j(\alpha)(\lambda_j, \alpha_j)$, completing the proof. \square

The following result can sometimes provide one with a way of comparing certain weight spaces in different Verma modules. Its proof essentially relies on Theorem 2.4, so we shall adopt the notation introduced in the statement of the latter.

Lemma 3.4. *Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$, so that $\mu \preccurlyeq \lambda$. Also assume the existence of $1 \leq j \leq l$ satisfying $0 < c_j \leq a_j$ and let $x \in \mathbb{Z}_{\geq c_j}$. Finally, fix two maximal vectors $v^\lambda, v^{\lambda_{j,x}}$ in $\Delta(\lambda)_\lambda, \Delta(\lambda_{j,x})_{\lambda_{j,x}}$, respectively. Then there exists an isomorphism of vector spaces $\phi : \Delta(\lambda)_\mu \rightarrow \Delta(\lambda_{j,x})_{\mu^{\lambda_{j,x}}}$ such that*

$$\phi((\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^\lambda)_\mu) = (\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}} \quad (8)$$

for every $1 \leq r \leq l$.

Proof. Let $1 \leq j \leq l$ and $x \in \mathbb{Z}_{\geq c_j}$ be as in the statement of the Lemma. The set $\mathcal{B}(\lambda)_\mu$ as in (7) forms a basis for $\Delta(\lambda)_\mu$ by Lemma 2.2, showing the existence of a unique linear map $\phi : \Delta(\lambda)_\mu \rightarrow \Delta(\lambda_{j,x})_{\mu^{\lambda_{j,x}}}$ such that

$$\phi(y_1^{r_1} \cdots y_m^{r_m} v^\lambda) = y_1^{r_1} \cdots y_m^{r_m} v^{\lambda_{j,x}} \quad (9)$$

for every $r_1, \dots, r_m \in \mathbb{Z}_{\geq 0}$ satisfying $\sum_{i=1}^m r_i \gamma_i = \lambda - \mu$. Since the elements on the right-hand side of (9) form a basis for $\Delta(\lambda_{j,x})_{\mu^{\lambda_{j,x}}}$ by Lemma 2.2 again, the linear map

ϕ is an isomorphism of vector spaces. Now as we assumed $c_j \leq a_j$, we immediately get that μ is not under $\lambda - (a_j + 1)\alpha_j$ and hence we have

$$(\mathfrak{U}(\mathfrak{g})y_j^{a_j+1}v^\lambda)_\mu = 0$$

by Theorem 2.4 (Part 2). Similarly $(\mathfrak{U}(\mathfrak{g})y_j^{a_j+1}v^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}} = 0$ and hence the equality (8) holds for $r = j$. In the remainder of the proof, assume $1 \leq r \leq l$ different from j and set $\delta_r = \lambda - (a_r + 1)\alpha_r$. By Lemma 2.2 and Theorem 2.4 (Part 2), one successively gets

$$\begin{aligned} \dim(\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^\lambda)_\mu &= \dim \Delta(\delta_r)_\mu \\ &= P(\delta_r - \mu) \\ &= P(\lambda_{j,x} + (\delta_r - \lambda) - (\lambda_{j,x} + \mu - \lambda)) \\ &= P(\delta_r^{\lambda_{j,x}} - \mu^{\lambda_{j,x}}) \\ &= \dim \Delta(\delta_r^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}} \\ &= \dim(\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}}, \end{aligned}$$

where the last equality relies on the assumption that r and j are different. Hence it suffices to show that $\phi((\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^\lambda)_\mu) \subseteq (\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}}$. Let $r_1, \dots, r_m \in \mathbb{Z}_{\geq 0}$ be such that

$$r_1\gamma_1 + \dots + r_m\gamma_m = \mu - (a_r + 1)\gamma_r$$

and consider $v = y_1^{r_1} \dots y_m^{r_m} y_r^{a_r+1} v^\lambda \in \Delta(\lambda)_\mu$. In addition, write $\mathcal{B}(\lambda)_\mu = \{v_1, \dots, v_k\}$, so that $\mathcal{B}(\lambda_{j,x})_{\mu^{\lambda_{j,x}}} = \{\phi(v_1), \dots, \phi(v_k)\}$ and let $\xi_1, \dots, \xi_m \in \mathbb{C}$ denote the unique complex coefficients satisfying $v = \xi_1 v_1 + \dots + \xi_k v_k$. An application of Remark 2.3 then yields

$$\phi(v) = \phi\left(\sum_{i=1}^k \xi_i v_i\right) = \sum_{i=1}^k \xi_i \phi(v_i) = y_1^{r_1} \dots y_m^{r_m} y_r^{a_r+1} v^{\lambda_{j,x}} \in (\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}}.$$

By Lemma 2.2 and Theorem 2.4 (Parts 1 and 2), any element of $(\mathfrak{U}(\mathfrak{g})y_r^{a_r+1}v^\lambda)_\mu$ can be expressed as a linear combination of vectors such as v , from which the result follows. \square

Let $\lambda \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu \prec \lambda$. Also fix $1 \leq j \leq l$ and $x \in \mathbb{Z}_{\geq 0}$. Then $m_{\Delta(\lambda)}(\mu) = P(\lambda - \mu) = P(\lambda_{j,x} - \mu^{\lambda_{j,x}}) = m_{\Delta(\lambda_{j,x})}(\mu^{\lambda_{j,x}})$ by Lemma 2.2 and applying (4) to the exact sequences $0 \rightarrow \text{rad}(\lambda) \rightarrow \Delta(\lambda) \rightarrow L(\lambda) \rightarrow 0$ and $0 \rightarrow \text{rad}(\lambda_{j,x}) \rightarrow \Delta(\lambda_{j,x}) \rightarrow L(\lambda_{j,x}) \rightarrow 0$ shows that $m_{L(\lambda)}(\mu) = m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}})$ if and only if

$$m_{\text{rad}(\lambda)}(\mu) = m_{\text{rad}(\lambda_{j,x})}(\mu^{\lambda_{j,x}}). \quad (10)$$

Now since both λ and $\lambda_{j,x}$ are dominant integral (as $x \in \mathbb{Z}_{\geq 0}$), applying [Theorem 2.4](#) (Part 3) shows that the modules $\text{rad}(\lambda)$ and $\text{rad}(\lambda_{j,x})$ are given by

$$\text{rad}(\lambda) = \sum_{r=1}^l \mathfrak{U}(\mathfrak{g}) y_r^{a_r+1} v^\lambda, \quad \text{rad}(\lambda_{j,x}) = \sum_{r=1}^l \mathfrak{U}(\mathfrak{g}) y_r^{a_r+1} v^{\lambda_{j,x}}.$$

Finally, in [Lemma 3.4](#), it was shown that in the case where $1 \leq j \leq l$ satisfies $0 < c_j \leq a_j$ and $x \in \mathbb{Z}_{\geq c_j}$, then there exists an isomorphism $\phi : \Delta(\lambda)_\mu \rightarrow \Delta(\lambda_{j,x})_{\mu^{\lambda_{j,x}}}$ of vector spaces such that the diagram

$$\begin{array}{ccc} \Delta(\lambda)_\mu & \xrightarrow[\cong]{\phi} & \Delta(\lambda_{j,x})_{\mu^{\lambda_{j,x}}} \\ \uparrow & & \uparrow \\ (\mathfrak{U}(\mathfrak{g}) y_r^{a_r+1} v^\lambda)_\mu & \xrightarrow[\cong]{\phi|(\mathfrak{U}(\mathfrak{g}) y_r^{a_r+1} v^\lambda)_\mu} & (\mathfrak{U}(\mathfrak{g}) y_r^{a_r+1} v^{\lambda_{j,x}})_{\mu^{\lambda_{j,x}}} \end{array}$$

commutes for every $1 \leq r \leq l$. Therefore [\(10\)](#) is satisfied thanks to [\(5\)](#) and hence the following result holds. (Observe that in the case where $c_j = 0$, then the assertion immediately follows from [Remark 3.2.](#))

Corollary 3.5. *Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$, so that $\mu \preccurlyeq \lambda$. Also assume the existence of $1 \leq j \leq l$ such that $0 \leq c_j \leq a_j$. Then for every integer $x \in \mathbb{Z}_{\geq c_j}$, we have*

$$m_{L(\lambda)}(\mu) = m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}}).$$

We are finally ready to give a proof of [Proposition A](#). First observe that in the case where J is a singleton, then an application of [Corollary 3.5](#) immediately yields the desired result. If on the other hand $|J| > 1$, then fix $j \in J$. By [Corollary 3.5](#) again, we get that

$$m_{L(\lambda)}(\mu) = m_{L(\lambda_{j,c_j})}(\mu^{\lambda_{j,c_j}}). \quad (11)$$

Clearly $\lambda_{j,c_j} \in \Lambda^+$, $\mu^{\lambda_{j,c_j}} = \lambda_{j,c_j} - \sum_{r=1}^l c_r \alpha_r$ and $0 \leq c_k \leq a_k$ for $k \in K = J - \{j\}$. In addition, adopting the notation of [Theorem B](#), one sees that $\lambda'_{j,c_j} = \lambda'$ and $(\mu^{\lambda_{j,c_j}})' = \mu'$. Therefore $m_{L(\lambda_{j,c_j})}(\mu^{\lambda_{j,c_j}}) = m_{L(\lambda')}(\mu')$ thanks to our induction assumption, which together with [\(11\)](#), completes the proof.

4. Proof of [Theorem B](#)

In this section, we give a proof of [Theorem B](#), which basically consists in a modified version of the usual formula of Freudenthal (see [Section 1](#) or [Theorem 4.1](#) below),

applicable in certain situations. For $\lambda \in \Lambda^+$ a dominant integral weight and $\mu \prec \lambda$, set

$$d(\lambda, \mu) = 2(\lambda + \rho, \lambda - \mu) - \|\lambda - \mu\|^2,$$

where ρ denotes the half-sum of all positive roots in Φ , or equivalently, the sum of all fundamental weights. The following formula, due to Freudenthal, gives a recursive way to compute the multiplicity of μ in $L(\lambda)$. We recall it here for reference purposes.

Theorem 4.1 (*Freudenthal's Formula*). *Let $\lambda \in \Lambda^+$ be a dominant integral weight. Then the multiplicity in $L(\lambda)$ of any weight $\mu \in \Lambda$ is given recursively by*

$$d(\lambda, \mu) m_{L(\lambda)}(\mu) = 2 \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda)}(\mu + r\alpha)(\mu + r\alpha, \alpha).$$

Remark 4.2. Thanks to [7, Lemma 13.4 (C) and Proposition 21.3], one gets that $m_{L(\lambda)}(\mu) = 0$ if $d(\lambda, \mu) = 0$. (In particular, this implies that $d(\lambda, \mu) \neq 0$ if $\mu \prec \lambda$ is dominant integral.) Therefore Theorem 4.1 provides an effective method for computing weight multiplicities inside a given irreducible finite-dimensional module.

Write $\mathbb{Q}_{\leq 1}[X]$ for the set of all linear polynomials in the indeterminate X with coefficients in \mathbb{Q} . In a similar fashion, let $\mathbb{Q}_1[X]$ denote the subset of all *non-constant* linear polynomials in $\mathbb{Q}_{\leq 1}[X]$. The following preliminary result is elementary and could easily be stated in a much more general setting. Nevertheless, it is included in its most simple form for clarity.

Lemma 4.3. *Let $f \in \mathbb{Q}_{\leq 1}[X]$, $g \in \mathbb{Q}_1[X]$ be two linear polynomials (with g non-constant) and assume the existence of a non-zero integer $x \in \mathbb{Z}$ such that $g(x)g(x+1) \neq 0$ and $f(x)g(x)^{-1} = f(x+1)g(x+1)^{-1} \in \mathbb{Z}$. Then f is an integral multiple of g . In particular, either $f = 0$ or $f \in \mathbb{Q}_1[X]$ as well.*

Proof. Let f, g, x be as in the statement of the Lemma and write $f = aX + b$, $g = cX + q$, where $c \neq 0$. By assumption, $(ax+b)(c(x+1)+q) = (cx+q)(a(x+1)+b)$, which one easily sees, translates to $aq - bc = 0$. If $a = 0$, then one immediately gets $bc = 0$, which implies $f = 0$ since g is non-constant (in which case the assertion trivially holds). Therefore assume $a \neq 0$ in the remainder of the proof, so that replacing q by $a^{-1}bc$ yields

$$\frac{f(x)}{g(x)} = \frac{a}{c} \in \mathbb{Z},$$

that is, a is an integral multiple of c . Substituting a by rc for some non-zero integer $r \in \mathbb{Z}$, one gets that $aq - bc = c(rq - b) = 0$, so that $b = rq$ (as $c \neq 0$). Therefore $f = rg$ as desired, thus completing the proof. \square

The overall structure of the proof of [Theorem B](#) is as follows. First we show the existence of $N \in \mathbb{Z}$ and two non-zero polynomials $f = aX + b \in \mathbb{Q}_{\leq 1}[X]$, $g = cX + q \in \mathbb{Q}_1[X]$ such that $m_{L(\lambda)}(\mu) = f(x)g(x)^{-1}$ for every $x \in \mathbb{Z}_{\geq N}$, where we explicitly determine $a, c \in \mathbb{Q}$ (see [Lemmas 4.4 and 4.6](#)). By [Lemma 4.3](#), we then get that f is an integral multiple of g , i.e. $f = m_{L(\lambda)}(\mu)g$, and thus the multiplicity of μ in $L(\lambda)$ equals ac^{-1} , from which we easily conclude.

Lemma 4.4. *Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$. Also fix $1 \leq j \leq l$ and set*

$$c = 2c_j(\lambda_j, \alpha_j) \in \mathbb{Q}. \quad (12)$$

Then adopting the notation introduced in Section 3, there exists $q \in \mathbb{Q}$ such that for every $x \in \mathbb{Z}_{\geq 0}$, the linear polynomial $g = cX + q \in \mathbb{Q}_{\leq 1}[X]$ satisfies the equality

$$d(\lambda_{j,x}, \mu^{\lambda_{j,x}}) = g(x).$$

Moreover, $g \in \mathbb{Q}_1[X]$ if and only if $\text{level}_j(\lambda - \mu) \neq 0$, or equivalently, if and only if $c_j \neq 0$.

Proof. Fix $x \in \mathbb{Z}_{\geq 0}$. By definition, we have $\lambda_{j,x} - \mu^{\lambda_{j,x}} = \lambda - \mu$, from which one easily deduces that

$$d(\lambda_{j,x}, \mu^{\lambda_{j,x}}) = 2(\lambda_{j,x}, \lambda - \mu) + (2\rho - (\lambda - \mu), \lambda - \mu).$$

Now $(\lambda_{j,x}, \lambda - \mu) = (\lambda_{j,0}, \lambda - \mu) + x \text{level}_j(\lambda - \mu)(\lambda_j, \alpha_j) = (\lambda_{j,0}, \lambda - \mu) + c_j(\lambda_j, \alpha_j)x$ by [Lemma 3.3](#) and hence setting $q = (2\rho + 2\lambda_{j,0} - (\lambda - \mu), \lambda - \mu)$ yields

$$d(\lambda_{j,x}, \mu^{\lambda_{j,x}}) = cx + q,$$

with $c \in \mathbb{Z}$ as in (12). Since $q \in \mathbb{Q}$ is clearly independent of x and since the latter was arbitrarily chosen, we get that the linear polynomial $g = cX + q \in \mathbb{Q}_{\leq 1}[X]$ satisfies $d(\lambda_{j,x}, \mu^{\lambda_{j,x}}) = g(x)$ for every $x \in \mathbb{Z}_{\geq 0}$ as desired. Finally, notice that $g \in \mathbb{Q}_{\leq 1}[X]$ is non-constant if and only if $c = 2c_j(\lambda_j, \alpha_j) \neq 0$. Since $(\lambda_j, \alpha_j) \neq 0$, the second assertion holds as well. \square

Remark 4.5. Observe that in the case where $\text{level}_j(\lambda - \mu) \neq 0$ in [Lemma 4.4](#), then the linear polynomial $g \in \mathbb{Q}_1[X]$ is strictly increasing in X .

For $1 \leq j \leq l$, recall the definition of $\Phi_j^+ = \{\alpha \in \Phi^+ : \text{level}_j(\alpha) > 0\}$ introduced in Section 1. Clearly a positive root $\alpha \in \Phi^+$ belongs to Φ_j^+ if and only if α_j appears in the decomposition of α as a sum of simple roots, or equivalently, if and only if $(\lambda_j, \alpha) \neq 0$.

Lemma 4.6. Let $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ be a dominant integral weight and let $\mu \in \Lambda$ be such that $\mu = \lambda - \sum_{r=1}^l c_r \alpha_r$ for some $c_1, \dots, c_l \in \mathbb{Z}_{\geq 0}$. Also assume the existence of $1 \leq j \leq l$ such that $0 < c_j \leq a_j$ and set

$$a = 2 \sum_{\alpha \in \Phi_j^+} \sum_{r=1}^{c_j} \text{level}_j(\alpha) m_{L(\lambda)}(\mu + r\alpha)(\lambda_j, \alpha_j) \in \mathbb{Q}. \quad (13)$$

Then adopting the notation introduced in Section 3, there exists $b \in \mathbb{Q}$ such that for every $x \in \mathbb{Z}_{\geq c_j}$, the linear polynomial $f = aX + b \in \mathbb{Q}_{\leq 1}[X]$ satisfies the equality

$$2 \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}} + r\alpha)(\mu^{\lambda_{j,x}} + r\alpha, \alpha) = f(x).$$

Proof. Let $1 \leq j \leq l$ be as in the statement of the lemma and fix $x \in \mathbb{Z}_{\geq c_j}$. By bilinearity of $(-, -)$, we have $(\mu^{\lambda_{j,x}} + r\alpha, \alpha) = (\lambda_{j,x}, \alpha) + (\mu - \lambda + r\alpha, \alpha)$ and hence Lemma 3.3 yields

$$(\mu^{\lambda_{j,x}} + r\alpha, \alpha) = \text{level}_j(\alpha)(\lambda_j, \alpha_j)x + (\lambda_{j,0} + \mu - \lambda + r\alpha, \alpha).$$

On the other hand, an application of Proposition A shows that $m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}} + r\alpha) = m_{L(\lambda)}(\mu + r\alpha)$ for every $r \in \mathbb{Z}_{\geq 0}$ and every $\alpha \in \Phi^+$. Setting $b = 2 \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda)}(\mu + r\alpha)(\lambda_{j,0} + \mu - \lambda + r\alpha, \alpha)$ then yields

$$\begin{aligned} & 2 \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}} + r\alpha)(\mu^{\lambda_{j,x}} + r\alpha, \alpha) \\ &= 2 \left(\sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda)}(\mu + r\alpha) \text{level}_j(\alpha)(\lambda_j, \alpha_j) \right) x + b. \end{aligned}$$

Now $\text{level}_j(\alpha) = 0$ if $\alpha \notin \Phi_j^+$, and if $r > c_j$ and $\alpha \in \Phi_j^+$, then $\mu + r\alpha$ is not under λ . Therefore we have

$$2 \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}} + r\alpha)(\mu^{\lambda_{j,x}} + r\alpha, \alpha) = ax + b,$$

with $a \in \mathbb{Q}$ as in (13). Finally, since $b \in \mathbb{Q}$ is independent of x and since the latter was arbitrarily chosen, we get that the linear polynomial $f = aX + b \in \mathbb{Q}_1[X]$ satisfies the desired condition. \square

We are now able to give a proof of Theorem B. Let λ, μ, j be as in the statement of the latter and first observe that $m_{L(\lambda)}(\mu) = m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}})$ for every $x \in \mathbb{Z}_{\geq c_j}$ by Proposition A. Now thanks to Lemma 4.4 and Remark 4.5, we get the existence of a linear

polynomial $g = cX + q \in \mathbb{Q}_1[X]$ as well as $N \in \mathbb{Z}_{\geq 0}$ such that $g(x) = d(\lambda_{j,x}, \mu^{\lambda_{j,x}}) \neq 0$ for $x \geq \max\{c_j, N\}$. An application of [Theorem 4.1](#) then yields

$$m_{L(\lambda)}(\mu) = \frac{2}{g(x)} \sum_{\alpha \in \Phi^+} \sum_{r=1}^{\infty} m_{L(\lambda_{j,x})}(\mu^{\lambda_{j,x}} + r\alpha)(\mu^{\lambda_{j,x}} + r\alpha, \alpha)$$

for every $x \geq \max\{c_j, N\}$, which by [Lemma 4.6](#) translates to the existence of $f = aX + b \in \mathbb{Q}_{\leq 1}[X]$ such that $m_{L(\lambda)}(\mu) = f(x)g(x)^{-1}$ for every $x \geq \max\{c_j, N\}$. Consequently f is an integral multiple of g by [Lemma 4.3](#) (that is, $f = m_{L(\lambda)}(\mu)g$), and thus $m_{L(\lambda)}(\mu) = ac^{-1}$, where $c, a \in \mathbb{Q}$ are given by [\(12\)](#) and [\(13\)](#), respectively. The result then immediately follows.

5. Proof of [Proposition C](#)

Let \mathfrak{g} be a simple Lie algebra of type A_l ($l \geq 2$) over \mathbb{C} . For $\lambda = \sum_{r=1}^l a_r \lambda_r \in \Lambda^+$ a non-zero dominant integral weight, define $I_\lambda = \{r_1, \dots, r_{N_\lambda}\}$ to be maximal in $\{1, \dots, l\}$ such that $r_1 < \dots < r_{N_\lambda}$ and $\prod_{r \in I_\lambda} a_r \neq 0$. Also let $\mu = \lambda - (\alpha_1 + \dots + \alpha_l)$. If $r_1 \neq 1$, then successively applying $s_{\alpha_1}, \dots, s_{\alpha_{r_1-1}}$ to μ shows that μ is \mathscr{W} -conjugate to

$$\mu' = \lambda - \sum_{i=r_1}^l \alpha_i.$$

Similarly, if $r_{N_\lambda} \neq l$, then successively applying $s_{\alpha_l}, \dots, s_{\alpha_{r_{N_\lambda}+1}}$ to μ' shows that μ' is \mathscr{W} -conjugate to

$$\mu'' = \lambda - \sum_{i=r_1}^{r_{N_\lambda}} \alpha_i,$$

so that $m_{L(\lambda)}(\mu) = m_{L(\lambda)}(\mu'')$. If $N_\lambda = 1$, then $\lambda = a_i \lambda_i$ and $\mu'' = \lambda - \alpha_i$ for some $1 \leq i \leq l$, $a_i \in \mathbb{Z}_{>0}$, in which case $m_{\Delta(\lambda)}(\mu'') = 1$ by [Lemma 2.2](#), while an application of [Theorem 2.4](#) (Part 3) yields $m_{\text{rad}(\lambda)}(\mu'') = 0$. Therefore $m_{L(\lambda)}(\mu) = 1$ and the result then holds in this situation, so applying [Lemma 3.1](#) if necessary, we assume $N_\lambda > 1$ and $a_1 a_l \neq 0$ in the remainder of this section. Here $r_1 = 1$, $r_{N_\lambda} = l$, and we aim at showing that the multiplicity of $\mu = \lambda - (\alpha_1 + \dots + \alpha_l)$ in $L(\lambda)$ is given by

$$m_{L(\lambda)}(\mu) = \prod_{i=2}^{N_\lambda} (r_i - r_{i-1} + 1). \quad (14)$$

We proceed by induction on N_λ , starting by considering the case where $N_\lambda = 2$, that is, $I_\lambda = \{1, l\}$ and $\lambda = a\lambda_1 + b\lambda_l$ for some $a, b \in \mathbb{Z}_{>0}$. Even though the result is well-known in this situation (see [\[14, Lemma 8.6\]](#), for instance), we record an argument

here for completeness. Since $\mu = \lambda - (\alpha_1 + \cdots + \alpha_l)$, one can apply [Theorem B](#) to $j = 1$ (as $0 < 1 \leq a$), yielding

$$m_{L(\lambda)}(\mu) = \sum_{\alpha \in \Phi_1^+} \text{level}_1(\alpha) m_{L(\lambda)}(\mu + \alpha).$$

One easily sees that $\Phi_1^+ = \{\alpha_1 + \cdots + \alpha_r : 1 \leq r \leq l\}$ (so in particular $\text{level}_1(\alpha) = 1$ for $\alpha \in \Phi_1^+$), hence

$$m_{L(\lambda)}(\mu) = \sum_{r=1}^l m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r).$$

Now observe that $\mu + \alpha_1 + \cdots + \alpha_l = \lambda$, while $\mu + \alpha_1 + \cdots + \alpha_r$ is \mathscr{W} -conjugate to $\lambda - \alpha_l$ for every $1 \leq r < l$. Therefore $m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r) = 1$ for every $1 \leq r \leq l$ and hence $m_{L(\lambda)}(\mu) = l = l - 1 + 1$, i.e. [\(14\)](#) holds. Next assume the existence of $N \in \mathbb{Z}_{>2}$ such that [\(14\)](#) holds whenever $2 \leq N_\lambda < N$, and let $\lambda \in \Lambda^+$ be such that $N_\lambda = N$. As in the previous situation, an application of [Theorem B](#) to $j = 1$ (as $0 < 1 \leq a_1$) yields

$$m_{L(\lambda)}(\mu) = \sum_{r=1}^l m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r). \quad (15)$$

Notice that for every $1 \leq r \leq r_2 - 1$, the weight $\mu + \alpha_1 + \cdots + \alpha_r$ is \mathscr{W} -conjugate to $\mu + \alpha_1 + \cdots + \alpha_{r_2-1}$, so that $m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r) = m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_{r_2-1})$. Consequently [\(15\)](#) becomes

$$\begin{aligned} m_{L(\lambda)}(\mu) &= \sum_{r=1}^{r_2-1} m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r) + \sum_{r=r_2}^l m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r) \\ &= (r_2 - 1) m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_{r_2-1}) + \sum_{r=r_2}^l m_{L(\lambda)}(\mu + \alpha_1 + \cdots + \alpha_r). \end{aligned} \quad (16)$$

Now consider the subset $J = \{r_2, r_2 + 1, \dots, l\}$ of $\{1, \dots, l\}$ and let $\mathfrak{g}_J, \mathfrak{h}_J$ be as in [Section 3](#). For every $1 \leq r \leq l - r_2 + 1$, write $\beta_r = \alpha_{r_2-1+r}$, so that $\Pi_J = \{\beta_1, \dots, \beta_{l-r_2+1}\}$ forms a base for Φ_J , and also denote by $\omega_1, \dots, \omega_{l-r_2+1}$ the corresponding fundamental weights. We then get the restrictions $\omega = \lambda|_{\mathfrak{h}_J} = \sum_{r=1}^{l-r_2+1} a_{r_2+r-1} \omega_r$ and $\nu = (\mu + \alpha_1 + \cdots + \alpha_{r_2-1})|_{\mathfrak{h}_J} = \omega - (\beta_1 + \cdots + \beta_{l-r_2+1})$.

Also by [Lemma 3.1](#), we see that [\(16\)](#) translates to

$$m_{L(\lambda)}(\mu) = (r_2 - 1) m_{L(\omega)}(\nu) + \sum_{r=1}^{l-r_2+1} m_{L(\omega)}(\nu + \beta_1 + \cdots + \beta_r),$$

where $L(\omega)$ denotes the irreducible \mathfrak{g}_J -module having highest weight ω . Now a suitable application of [Theorem B](#) shows that the sum on the right-hand side equals $m_{L(\omega)}(\nu)$, so that

$$m_{L(\lambda)}(\mu) = r_2 m_{L(\omega)}(\nu).$$

Finally, observe that $I_\omega = \{s_i : 1 \leq i \leq N_\lambda - 1\}$, where for every $1 \leq i \leq N_\lambda - 1$, we have $s_i = r_{i+1} - r_2 + 1$. In particular $N_\omega = N_\lambda - 1 < N_\lambda$ and thus our induction assumption applies, yielding

$$m_{L(\omega)}(\nu) = \prod_{i=2}^{N_\omega} (s_i - s_{i-1} + 1) = \prod_{i=2}^{N_\lambda-1} (r_{i+1} - r_i + 1) = \prod_{i=3}^{N_\lambda} (r_i - r_{i-1} + 1),$$

from which the desired result follows.

Acknowledgments

I would like to express my deepest thanks to Professor Donna M. Testerman, for her very helpful comments and suggestions on the earlier versions of this paper.

References

- [1] Timothy C. Burness, Soumaïa Ghandour, Donna M. Testerman, Irreducible geometric subgroups of classical algebraic groups, *Mem. Amer. Math. Soc.* 239 (2016) 1130.
- [2] N. Bourbaki, *Éléments de mathématique*. Fasc. XXXIV. Groupes et algèbres de Lie. Chapitre IV: Groupes de Coxeter et systèmes de Tits. Chapitre V: Groupes engendrés par des réflexions. Chapitre VI: systèmes de racines, *Actualités Scientifiques et Industrielles*, vol. 1337, Hermann, Paris, 1968.
- [3] Roger W. Carter, *Simple Groups of Lie Type*, Wiley Classics Library, John Wiley & Sons Inc., New York, 1989, reprint of the 1972 original, a Wiley–Interscience publication.
- [4] Leandro Cagliero, Paulo Tirao, A closed formula for weight multiplicities of representations of $\mathrm{Sp}_2(\mathbb{C})$, *Manuscripta Math.* 115 (4) (2004) 417–426.
- [5] Willem A. de Graaf, *Lie Algebras: Theory and Algorithms*, North-Holland Mathematical Library, vol. 56, North-Holland Publishing Co., Amsterdam, 2000.
- [6] Hans Freudenthal, Zur Berechnung der Charaktere der halbeinfachen Lieschen Gruppen, I, *Indag. Math. (N.S.)* 16 (1954) 369–376;
Hans Freudenthal, Zur Berechnung der Charaktere der halbeinfachen Lieschen Gruppen, II, *Indag. Math. (N.S.)* 16 (1954) 487–491.
- [7] James E. Humphreys, *Introduction to Lie Algebras and Representation Theory*, Graduate Texts in Mathematics, vol. 9, Springer-Verlag, New York–Berlin, 1978, second printing, revised.
- [8] James E. Humphreys, *Representations of Semisimple Lie Algebras in the BGG Category \mathcal{O}* , Graduate Studies in Mathematics, vol. 94, American Mathematical Society, Providence, RI, 2008.
- [9] Bertram Kostant, A formula for the multiplicity of a weight, *Trans. Amer. Math. Soc.* 93 (1959) 53–73.
- [10] George Lusztig, Singularities, character formulas, and a q -analog of weight multiplicities, in: *Analysis and Topology on Singular Spaces, II, III*, Luminy, 1981, in: *Astérisque*, vol. 101, Soc. Math. France, Paris, 1983, pp. 208–229.
- [11] R.V. Moody, J. Patera, Fast recursion formula for weight multiplicities, *Bull. Amer. Math. Soc. (N.S.)* 7 (1) (1982) 237–242.

- [12] Siddhartha Sahi, A new formula for weight multiplicities and characters, *Duke Math. J.* 101 (1) (2000) 77–84.
- [13] Waldeck Schützer, A new character formula for Lie algebras and Lie groups, *J. Lie Theory* 22 (3) (2012) 817–838.
- [14] Gary M. Seitz, The maximal subgroups of classical algebraic groups, *Mem. Amer. Math. Soc.* 67 (1987) 365.